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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE/IGCSE (9-1) History
0470 /0977 and Cambridge O Level History 2147, and to show how different levels of candidates’ performance (high,
middle or low) relate to the subject’s curriculum and assessment objectives.

In this booklet, candidate responses have been chosen from March 2020 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers, where relevant.

This document provides illustrative examples of candidate work with some examiner commentary. These help
teachers assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in
some circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

0470 March 2020 Question Paper 22

0470 March 2020 Paper 22 Mark Scheme

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- or low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — high Examiner comments
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| Answers are by real candidates in exam conditions. \ were awarded. This helps you ||
These show you the types of answers for each level. to interpret the standard of
Discuss and analyse the answers with your learners in Cambridge exams so you can
\the classroom to improve their skills. help your learners to refine

\their exam technique. j

How the candidate could have improved their answer

This answer reached the top level in the mark scheme, showing knowledge of the crisis and how the source was
useful. However, to achieve the top mark, the candidate should have made a more explicit statement in the crucial
paragraph about how Source A was useful as evidence about the Cuban Missile Crisis. The answer implied this, rather
than being explicit about usefulness.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

+ Some responses wrote about the events in Source A without relating them to the Cuban Missile Crisis.

» Explanation of how Source A was useful to understanding the crisis was required for the highest level. However,
many candidates simply made assertions that Source A was (or was not) useful.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.
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Option B — Question 1

Example Candidate Response — high Examiner comments
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How the candidate could have improved their answer

This answer reached the top level in the mark scheme, showing knowledge of the Crisis and how the source was
useful. However, to achieve the top mark, the candidate should have made a more explicit statement in the crucial
paragraph about how Source A was useful as evidence about the Cuban Missile Crisis. The answer implied this,
rather than being explicit about how it was useful.
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Example Candidate Response — middle Examiner comments
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a The candidate directly
addresses the question.

e The candidate selects several
points from Source A (Khrushchev
regarded Kennedy as
inexperienced, Khrushchev was
confident) and states that this is
useful evidence about the Crisis,
however, the candidate does not
explain why or how. The answer
reaches Level 3 here.

e Again, this answer reaches
Level 3. The candidate rejects the
source because it tells us nothing
about what happened in October
1962. As Level 3 is reached twice,
4 marks are awarded.

Total mark awarded =
4 out of 7

How the candidate could have improved their answer

The candidate identified relevant information in Source A that could be used as evidence about the Cuban Missile
Crisis but did not explain how it could be useful. To improve the response, the candidate could have selected a
development in the Crisis, such as Khrushchev placing missiles in Cuba. If the response explained how
Khrushchev thought he could get away with this, because he thought Kennedy was weak and inexperienced, then
Level 5 of the mark scheme would have been reached. This crucial move depended on the candidate selecting an
aspect of the Crisis and demonstrating how Source A helped to explain it.
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Question

“Part

Example Candidate Response — low
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Examiner comments

ﬂ The candidate is repeating the
information in Source A.

e The Bay of Pigs and its
consequences are explained, but
the candidate does not link this
with the Cuban Missile Crisis. The
issue of how far Source A provides
useful evidence about the Cuban
Missile Crisis is not addressed. In
fact, the Crisis is not mentioned.
For this reason, the response
remains in Level 1.

Total mark awarded =
1outof7

How the candidate could have improved their answer

This response needed to focus more on the Cuban Missile Crisis and how far Source A provided evidence about

it. The answer was related to the Bay of Pigs invasion rather than the Cuban Missile Crisis. There were some
opportunities in the response for the candidate to develop relevant points. For instance, after making the point that
Khrushchev did not respect Kennedy, the candidate could have suggested that this helped to explain why Khrushchev
acted as he did during the Crisis. In the same way, the point about the way the Bay of Pigs made Khrushchev and
Castro suspicious of US policy, could have been used to explain why missiles were placed on Cuba.

Common mistakes candidates made in this question

Some candidates wrote about the events in Source A without relating them to the Cuban Missile Crisis.

Explanation of how Source A was useful to understanding the crisis was required for the highest level, however,
many candidates simply made assertions that Source A was (or was not) useful.

Many focused on what the source said without selecting an aspect of the Crisis that could have been better
understood through use of Source A.
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Option B — Question 2

Example Candidate Response — high

Examiner comments
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ﬂ The candidate gives a general
introduction. Level 1 is reached.

e A number of valid and
supported impressions of
Khrushchev are given, such as
he was a responsible leader
because he wanted to avoid
war. Later, the candidate also
explains that Khrushchev took
the missiles out of Cuba to save
Kennedy. This achieved Level 4.
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Example Candidate Response — high, continued
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Examiner comments

e The candidate states that
Khrushchev really moved
the missiles because of US
pressure. This does not answer
the question. The idea that
Khrushchev was a liar cannot be
inferred from the source.

o The response reaches Level
5. There is a clear statement
that Khrushchev was trying to
justify his actions and that he
wanted the Soviet people to see
him as the victor in the Crisis.
Later, it is stated that ‘he always
tried to raise his own position’.
Although the candidate does
not explicitly state that these are
negative impressions, they raise
the answer into Level 5. The
response gets close to Level 6
as it shows that Khrushchev was
trying to ensure that the Soviet
public should never feel that he
had accepted the US demands
and that he wanted to improve his
own position in the USSR. The
response does not directly state
that Khrushchev was criticised
at the time. To reach Level 6, the
candidate needed to be more
explicit about this.

Total mark awarded =
6 out of 7

How the candidate could have improved their answer

This answer achieved Level 5 by focusing on valid negative impressions. To be awarded Level 6, the response
needed to be clearer about the need for Khrushchev to rescue his reputation. There was not enough specific
contextual knowledge about his position after the Crisis. The candidate needed to explain that the common perception
at the time was that Khrushchev had given in to Kennedy, or about the fact that he fell from power within two years of
the events.

10



Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments
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How the candidate could have improved their answer

This answer made several valid supported impressions to achieve Level 4. The candidate was aware that Khrushchev
was making positive impressions of himself and could have improved their answer if they had used this to suggest that
it showed us that Khrushchev was boastful or self-promoting. This would have raised the answer into Level 5.

1"



Example Candidate Responses — Paper 2

Example Candidate Response —

low
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Examiner comments

ﬂ The candidate attempts to
address ‘impressions’. However,
the attempt — ‘not someone who
would give up easily and was not
someone who could be stopped
or silenced’ — does not work well
with Source B. It is as much a
description as an inference and
there is nothing in Source B that
directly supports it. However, it is
an attempt to draw an inference
and is not completely wrong. It
can be allowed as Level 2 — a
valid inference (just) but not
convincing about Khrushchev.

e The candidate repeats what
is in the source and makes no
inferences about Khrushchev.
The candidate does not use
this information to support an
inference.

Total mark awarded =
2outof 7

How the candidate could have improved their answer

The question required candidates to make inferences about Khrushchev that could be supported from Source

B. The two attempts at the beginning of this answer were marginal in terms of being justified by Source B. More
obvious inferences would have been that he was responsible, understanding or in charge. These inferences needed
to be supported from the source. For example, a valid, supported inference would have been, ‘The impression of
Khrushchev is that he was in charge of events during the Crisis. This is shown by the fact that that he says he started
the exchange with Kennedy and was at the centre of the action’.

Common mistakes candidates made in this question

Many responses took surface information from the source rather than making inferences.
Some tried to make inferences about Khrushchev which could not be supported using the source content.

A few responses made inferences about Kennedy rather than Khrushchev.

Some candidates made valid inferences but did not support them from Source B.

Many did not recognise that Source B shows Khrushchev in a negative way.

Few responses explained their answers using their contextual knowledge of Khrushchev’s position after the Crisis.
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Example Candidate Responses — Paper 2

Option B — Question 3

Example Candidate Response — high Examiner comments

a. Qowe LG a Mkkﬂon_\oubl\Mﬁu__Wi_ﬂmam__.
V\MQbO\M Ua_Dombr__1942 . Ha M _whon. Wo_blodeode |
% Qm M__Wn Eux n‘amﬁ UL lol_A oha LAl i hm @f

I S G USSR ot Fia_chinck_fommiini ki, . o The candidate does not answer
' "" the question.

‘hr\ T QMML I.L_bvww__l hy__fe o Jﬁ\P_._jd_.mC_NA&dM
A wow_you o Wb It M_kmmﬂ%]_g_
)“J/mwm R o il as_ o ATINYNTTS B o

Qoae Ty Attt by -Gbo o0 the_p s
|ae Souk (/\MWL&__V\ﬂA‘m Wlnitsphang_ ol Catvo_ ai&

wlld o (A w_bmgm_m_mm__bg ,&mp%_
._wwx_{éu:r T Myma0n W fposih® __ﬂ/\w_a»_
e Pmi‘_h " e The candidate identifies valid

ﬂ i Slagin_oe “"D ‘] f;;?_‘i'm L akibe e sub-messages such as Kennedy

.vol ﬂ"d “"Unl“ (014. oumd Kluasohypy ) elaon 4" was defensive and Kennedy was
r_wl‘ WA GJQfLAa e , firm in his position. Level 3.

2
5

DE coaodabu 1062, coons—Klaaushn_gpand ko aumnow |
A uAditn rﬂmm (oo, dutadr e B osbd_ (ubos |

fn _ouulinT_p, at\mLm o odtiele o0l
<WM —bm‘u&ww b’e—mﬁ@—”—m%m‘b‘wﬂm e The candidate identifies
1 fe_Shown_to_ be 5‘“’”"’\0 T ot t‘f’—”‘\”‘ W‘*M———— further sub-messages stating
Mammody_ T Snowin_to e Wi wyisaets. i Tospay that Kennedy was decisive and
pauiaaongla e Sopike Unfon  Waddy_aliadwaw? | | authoritative. Level 3.
| A M&AM vora___(uboc. IWAMK Rnnsdy Sa_to
_LMAMMO__(WN/%&_M_W\JM%P ot Uk boag oThe candidate gets to the big
) Asnananar g KJAM/)O‘M\)_._&L\D\_W%_MS&%__ message that the US was
OOy kbl Dl A superior and winner in this
i situation. This goes further than a
gl s Aovuer, Mo (OMFOOAIAS  F_bwubiap b pfun uA & Level 3 answer that might state
UM Yookttt - USA Logs_ A m‘%xjn\lﬁn A the US was strong. This answer

4 Mo,hm}q‘»(m ound [’\MM_IQUMM_,_JLMMHE anak re_;fers_ to,the Crisis, ‘this
a0 octuud % o Chbu_146) . Howmwl_gar ik Sa_o situation’, and makes a

. o o | ‘- statement about the US in
AosCOAA_pubithudsin tiu Basslton _npaspipy 3 | relation to the USSR. The big
%MOWM—MMMWW—M—%ﬁMMﬁ‘MM% message of a cartoon refers to
Tan_ USB_ toos theed  {n_bota fw | u\uw_&x_b;_bl%ij the main point that a cartoonist
dd M niumabu w}{alpm&sj“bm__gmw\,_m_{w _owat . was trying to make.
fs Somamoniu hamm_ to_waeds ’T\AL_US\&._’_QV\O_\;.’Lu\Af_ﬂMW A3 Total mark awarded =
o wwitus itk Gliatdon 7 out of 8

How the candidate could have improved their answer

This answer was awarded Level 4 because it explained the main message of the cartoon. To reach the top level in
the mark scheme, the candidate needed to explain the point of view of the cartoonist. The question asked about the
‘cartoonist’'s message’. This meant going further than the big message and explaining what the cartoonist thought of
the situation they represented. In this cartoon, the cartoonist approved of the fact that the US had the upper-hand in
the Cuban Missile Crisis. This could be seen by the way that characters were portrayed, for instance, Khrushchev and
Castro were shown in rather foolish poses compared to the calm authority of Kennedy.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

3

N - e ‘_ - . C_ ) ’ |
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| i knn.n‘o Ay s %.{h;_wlh-ﬂﬁ&eiuv—gﬁﬂt_&—_*—‘
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"P fle

0 There is an immediate attempt
to address the question. The
candidate identifies some valid
sub-messages, such as Kennedy
is warning Khrushchev to remove
the missiles. This sub-message
is supported by reference to
Source C. Level 3.

e This contextual background
does not add anything to the
answer.

e This is not quite right. The
cartoon is not criticising the arms
blockade.

o There is another valid and
supported sub-message that
America is strong. Level 3.

Total mark awarded =
4 out of 8

How the candidate could have improved their answer

The candidate identified and supported some valid sub-messages. To improve this answer, the candidate needed
to explain the big message of the cartoon. The big message was the main point that the cartoonist wanted to make.
Here, the big message was that the US had the upper-hand in the Crisis, or that the US had taken control of the
Crisis. There were two elements to this big message: (i) it must relate directly to the Cuban Missile Crisis, and (ii) it
must show an understanding that the US had taken control of the Crisis. This answer was close to this at the end

where it stated that the US was strong, but did not go far enough in recognising both of the elements explained above.
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Example Candidate Response —

Example Candidate Responses — Paper 2

low

5.

& The. cavitoonmisds mmme 15 gt P hrosChey |

(0seR)_had_loekrer wel| equipped arms and

eQuipments (Sipaved. +o 40 09A. T4+ dellS ay that

e suopew 1S &w OSSP dh R4 telle erq+~H~«7

WO ep?vem InGclear MAESSiles (—«HwW

atkacked” by (oha. This way Yo test UIA fo e

.l/L '\/\‘\Lu fA?B’OJ,d'

ek into Wwar: T4 C,oaA

e\\,sfo

| To-ako. [qua«n (S USA-

newdo e 4. -V% TVJLP U5r°r Z

(OhCoaAiOns i vetura . T+ e done 4o cl@éenel

L Cobaan (ashes coba wa

ﬂ\mq-\— Hiveat d it

feoas 0_Onelesans backysrd. TS alse done
4o Shengthen USSRs oeon Posidon .

_S_Qu Mmevican |

Yepn Qdu is

L bstrried as  Woan_exile L@A 1o ush amd Hat

. .‘7 , _k(/\e__b@é{_(o» _1)\

tooah homi 116
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Examiner comments

ﬂ This answer is weakened
by the candidate relying on
contextual knowledge rather
than trying to interpret what the
cartoonist wants to say. Attempts
to identify messages are based on
misinterpretations of the cartoon.
For instance, Khrushchev had
better well-quipped arms is not a
valid message of this cartoon.

e Much of this answer is about
the events of the Cuban Missile
Crisis rather than the cartoon.
There is an attempt to return
to the cartoon at the end of the
answer but ‘alarm’ is not the right
word for a confident looking
Kennedy. This answer is in Level
1. It contains misinterpretations
and does not identify valid sub-
messages.

Total mark awarded =
1 out of 8

How the candidate could have improved their answer

This answer contained some contextual knowledge of the Cuban Missile Crisis but misinterpreted the cartoon by
seeing Khrushchev as ‘better equipped’ and Kennedy as ‘alarmed’. The candidate needed to focus more carefully on
the cartoon and its messages. For example, the cartoon suggested that the US was strong, the situation was tense
and the US would retaliate.

Common mistakes candidates made in this question

Some responses were focused on their knowledge of the Cuban Missile Crisis rather than on interpreting the

cartoon.

A number of responses were based on surface descriptions of the cartoon rather than making inferences and
explaining messages.

Some identified relevant sub-messages from the cartoon but did not support these with details from the cartoon.

A few answers were distracted by minor details in the cartoon, such as the fish, instead of being focused on
explaining the big message.
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Example Candidate Responses — Paper 2

Option B — Question 4

Example Candidate Response — high

Examiner comments

Soum D_mad € gor b g s__sonne Tloa_ cdbour i
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WG dar

Rriksia IURSpjou: i 4™ ookt 062w

EM_MLM&L K_C@th)vud 0K, -Ma Pumrhml M’h JruLIo"

Shuger D m\m__}g_mm foweds fim (A tafia {w pow

Shdamamk (mm NI L VR, VN mum M

o {y 1oy ,u\)& hlmuo o Sk o ;m!,\w__muum; ok

| Mmr(c S\Aowd@mn Mﬁwﬁ___m‘wf)/mw ‘
ﬁ{)u—inL*.
louu_r_

S(NM‘I D P{fuu\ m M vgprapo— tagr il
mﬁ’g_&\a\r_m_ mmﬂu_}mm ]

sl _blgupud tngl
mw(_owwn_o_Tm-sgm_wLwﬁzs_ Bt A

thAMp(&w (Al A _u_hmm_sﬂwk

WMMMAIWJU_USL@DM_WW M Shrony
a_(gdlm_&bbuk_mwk__m% m@m j
WO{IL&J“_

P Osh. Sunté e _&_v_,so\_(,w:m__wo\_xm ok |
Lowad Bakadin o OI,IJUZA_,_WM/\ U_ua—_Sowma mmu

1t mu. . h\(‘amm_Uﬁuwm%“ __K/qu,soiwv_

0 The candidate’s introductory
paragraph compares the
provenance of the two sources.
Level 2.

e The candidate’s response
demonstrates understanding
the big-message of Source D;
the superiority of the USA. This
reaches Level 3 as one source
was interpreted.
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Example Candidate Responses — Paper 2

Example Candidate Response - high, continued Examiner comments

Qufpuna KO Do Guatatly, faoMoning_ 40 BlMA_ pper. |
Unhnelan_h— Saowin._do by A m(tf_m_l\ih___mx/gdﬂ__
Ao b pooy __a;AoL,proszo__JéwwlA_ inLdafp—
O

W~gwﬂ_%4:f Ap_ B __HAL_QW,EH}.‘\_J_MATFW_%

e The candidate’s answer
explains that Source E also says

(I = W Ao S Vm’;—(MW\—OM——W“«"ﬂ—-(—W dwn | that the USA was superior in
EM o toonuds s dinuftmn Supasfority o KAy_tand ] strength. This is on the borderline
} Mm,al\lj__m)_/smi : ‘_v_\_ia,w__cnw's__mwmﬁ_iw.w_nﬁ_Mu_ for Level 5; the comparison of the
Al MiALA o A s o JPW+5¥“,W tv_vo sources. This could be more
s Liptfon__too_nolea i Dane_T 20 VR 7 S direct.
Ao "F(\ watoleds_Gungt "'M‘/y___n./\!;__ A Ggrr—— el

1n p'_JaA/}ghhA__ﬂAo_duM.MLW?o\) fou— i
KA kAt Auinn _.u__sk\%fz?@wl Bup gl OppAIE |
Ush, , ‘ , |

Bota__ cpurens_D_and_6 &o_‘mmm;;w@_m

m IARCE s L The candidate’s final paragraph
MG papis N brouae bolta_ N o G| o >
s i b LAUAofa ® secures Level 5. The comparison

'Sf{)' M m_&%_komm__ﬂg_oga&__gmmhmd_m between the two sources is
: I—HN-—b-@“ﬁk\o@f‘—\‘—‘—m'—'@—‘—ﬂ“’ﬂﬁmm“—i—&ﬂ%@)ﬁ\%%—_—» | clearer with the USA controlling
L An0u_ Kikielu 0A Wil ot o Sowe gl o | ituati
0w EAlhe 02 U b Ouscsh NJ(JMMAI_Q}&ﬁ || the situation better and the USSR
Sodloa_wmo fo e Cuopm Mt eimi P weaker.
4\\2‘“0 _BJ()__ Ut bt ' ’ ‘ | Total mark awarded =

7 out of 8

How the candidate could have improved their answer

This answer slowly built towards Level 5 and became secure in the final paragraph. Level 5 could have been reached
more quickly if the candidate compared the big messages of the two sources earlier in the response. Instead, the
candidate explained Source D first, and then moved on to Source E. The big message of each source was clearly
understood but the candidate was hesitant about making an explicit comparison, and this only came at the end.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments
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o LN M Maodo. the (o0 Anmae d@nSiem A comparing valid sub-messages.
JERISTN M - o K 2 dao, Qg dus _: The answer explains how both
we, &x\f:: Mju' o Wb Oatd \ = sources show that the Cuban

Missile Crisis was about personal

- : - ' rivalry between the two leaders.
Wanonge | Haticg IS e Gmp &*Q&Me"’“ be bureoty The comparison is clear and is

bodda_Souta_ubdch, s onflenke, Sowret D .pokewis | supported with evidence from both
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et > GRS AL . Stze o) ey vwssi& about Source E showing Ken:medy
(ool S oo Gon\ Joi  Vhwishches i tics| | L0 Nave the upper hand, but it
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[2) Cade) 5. Qancoger Ahake USSRS.. mew)»( / Source D shows the two nations
K&Bﬂ_\_@,\o RS- PNSUWN O Y &\Ar\b\,l«f\? R5S as equal.

Mode eous VA

7 NoveyHRoss, Brousgh Hhuce o :A B o oo s (’)Jmt—‘@ﬂﬁld&@ e The candidate’s answer
C L Lunedions _in btk soureRe ; hewsver i |a|0\ achieves Level 4. The top mark

P - ) in this level is awarded because
+{opichote Is By Sorns, 4 both d@,cwﬂﬁ__ —m’j the comparison in the opening

Una geaSenal uitebioy b&mw At dun QP«M_Q—E&. paragraph is clear and well-
- TS ’d«vevl?ov'f divouns, @q@@_\@. condmaionts H-al- | supported from the sources.

Sk
1% SOM@SA—&WJ“—Q\_%W’ Xk ke . 9 Total mark awarded =

6 out of 8

e}

How the candidate could have improved their answer

This answer achieved the top mark in Level 4 with valid sub-messages being compared. The answer then continued
to explain that Source E showed the USA (or Kennedy) was getting the upper hand in the Crisis. This was a valid
reading of Source E, however, the candidate’s claim that Source D showed the two nations as equals was not correct.
Source D mentioned that Khrushchev had just blinked and this suggested that he was showing weakness. As a result,
this attempt by the candidate to reach Level 5 by comparing big messages was not successful.
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Example Candidate Responses — Paper 2

Example Candidate Response — low Examiner comments
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Example Candidate Responses — Paper 2

Example Candidate Response — low, continued
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Examiner comments

e Up to this point, nearly all the
answer consists of the candidate
writing about the Cuban Missile
Crisis rather than the two sources.

e The candidate’s answer is not
valid for Source D.

o The candidate’s answer is
about Source E and it is valid
to say that this source suggests
Khrushchev is in a weaker
position. This places the answer
in Level 3. There is a message
from one source but no valid
comparison of the messages of
the two sources.

Total mark awarded =
3 outof 8

How the candidate could have improved their answer

At the end of the response, the candidate made a valid interpretation of one source. Source E suggested that
Khrushchev was the weaker of the two. One way of improving this answer would have been to compare this point
about Khrushchev with what Source D suggested about him. This could have led the candidate to realise that
Source D agreed about Khrushchev being weaker (the remark that Khrushchev had just blinked). This would have
been a Level 5 answer with the big messages compared. Being more precise in the opening paragraph would also
have improved this answer. The candidate claimed that the two men were pursuing a personal agenda, which was
not what the cartoons showed. However, a statement that both sources showed that the Crisis was a personal
struggle between the two men would have raised the answer to Level 4 as a comparison of sub-messages.

Common mistakes candidates made in this question
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Some responses interpreted both sources separately but did not compare them.

A number of answers focused on minor details in the sources without considering the main point being made by
both authors.

Some candidates misinterpreted Source D and therefore were unable to reach valid points of comparison.




Example Candidate Responses — Paper 2

Option B — Question 5

Example Candidate Response — high

Examiner comments
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0 The candidate’s response
understands the disagreement
between Sources F and G and
uses this to express surprise. This
places the answer in Level 3.

e The candidate evaluates
Source G in terms of its
provenance and its purpose. The
answer then states that because
of these it cannot be used to make
Source F surprising. Level 5.

Total mark awarded =
7 out of 8

How the candidate could have improved their answer

The candidate evaluated Source G and used this to state that it did not make Source F surprising. This placed the
answer in Level 5. The candidate also needed to evaluate Source F. This could have been achieved by focusing on
Kennedy’s purpose. In his speech, Kennedy was trying to win the support of the American people for his actions over
Cuba. This gave another reason why Source G did not make Source F surprising because Kennedy’s speech made
perfect sense in terms of his purpose at the time.

21




Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

ﬂ The candidate provides a good
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lusex e MNon ¥ ek,p\\o_"\-\— WWeQX O _XWne PeCee Oé‘?sq SectoXi sources disagree and USing this

as a reason why Source G makes
Source F surprising.
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e The candidate attempts

(@ Woossi However i fae. exedinilihy ot Hh e oxgumenrs | to evaluate the two sources

IR "f\_V_éﬁ__;'_w_\‘._L_SOGK.&E;'L_G;_LDKQ;Q\)E.,SX\QL‘QYDXB;:.;;on._g.ﬂ.&_jﬁunmuh.{‘_.___ The basis for this evaluation is

) i loie _Xokend. inyo CONSIAEXOMON_ Hnok_Souxee: &GOS pulishe that Source G was written with
in_ 196%  Qing HMe fox_ mindsignt ASresk  souxee. hindsight while Source F was
B el Neletsetl oS o et e i sis e oteer | | Written at the time and was a

o Foe ofssile o nad been discol exed: kennedy!'s__sroketmeny | natural re?Ctlon' These a’gtempts
is  wnexevace ] . ) at evaluation do not consider
Eovavies 000 o 0 adusal__and wohediore ceadion. sauve-| the purpose or motive of the

@GS tlowm. ok« xae UsSRwoold ke awiboeNewess | | sources (for example) and are not
—fin_on._arkock. $rom dae LS ls:piowed - Gsikennedy | | sufficiently developed for Levels
lcolled, of. @ aix_eixike ‘cqaolostiCupa: n . Reax of 5 or 6.

‘ EQQ&'_Qg.J:;t;Sy__e;n___z\'b_L__\ls_.;Q\ud;_\)_ss . Fox A xeosan |
- lasobxee ©_is LOSOLEKISING C0A SOLXCe_ ('S canradithony e The candidate makes another
oy UtHe ieapack SSe S0 - ¢ et attempt at evaluation. However,

‘ , . . . A the argument that Source G’s
claim that the USSR would be
helpless is flawed because
Kennedy called off an airstrike on
Cuba, does not work. The answer
remains in Level 3.

Total mark awarded =
4 out of 8

How the candidate could have improved their answer

This answer started in Level 3 with an explanation of how the sources disagreed, which means Source G makes
Source F surprising. Several attempts were made to evaluate the sources to demonstrate that Source G did not make
Source F surprising. These did not work. The candidate understood what was required, but was unable to carry out
the necessary evaluation. A more effective way of evaluating the sources would have been to focus on purpose.

For instance, the author of Source G, as a supporter of Batista, was trying to show that the US could have easily
destroyed the missiles and invaded and Cuba. The fact that he had this purpose meant that Source G could not be
trusted, and therefore could not be used to make Source F surprising.
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Example Candidate Response — low Examiner comments
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e Source F is mentioned, but
only in passing. The candidate
writes about Khrushchev’s

Lond. Txaly - intentions rather than about the
CD“C@SS"“ODS were_magde. and_§n sources. This response has not
ovather peacedu\ maaner sxathher | | vetreached Level .
O OOt _source O ua0a.4e .
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anck Thal VE

Total mark awarded =
1 out of 8
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How the candidate could have improved their answer

This answer made limited use of the sources and the question was not addressed. The first step the candidate
needed to make to improve their answer was to focus on what the two sources were saying. The next step was to find
an agreement or disagreement between the two sources and use this as a reason for Source G either making or not
making Source F surprising.

Common mistakes candidates made in this question

» A small number of responses compared and even evaluated the sources, but did not draw a conclusion about
whether or not Source G made Source F surprising.

» Some responses made assertions about surprise without support or explanation.

« Some responses were limited because they were based on the assumption that finding a difference or agreement
between the sources provided the full answer to the question.

*  Where responses attempted evaluation, this was often less effective because it was based on the provenance of
sources rather than on the purpose of their authors.
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Option B — Question 6

Example Candidate Response — high Examiner comments
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e The candidate gives a good
explanation of Source A with
effective use of source content.
The candidate also explains how
Source A supports the statement
given in Question 6. Level 2.
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Example Candidate Response — high, continued Examiner comments
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supports the statement.
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' M/@m ﬁ_ LN AMQ § satisfactory explanation of how
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Example Candidate Response — high, continued Examiner comments
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Example Candidate Response - high, continued Examiner comments
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Total mark awarded =
11 out of 12

How the candidate could have improved their answer

This was a very good answer with 11 marks out of 12 being awarded. Source content was used to support and
challenge the statement in the question and Source A was evaluated effectively. To achieve 12 marks, the candidate
needed another satisfactory evaluation of a source. A weak attempt was made to evaluate Source B. This would
have been improved if the candidate had considered Khrushchev’s purpose in context. For instance, it was possible
to argue that ‘This source cannot be trusted because it was written later when Khrushchev was trying to rescue his
reputation after he had been toppled from power in the USSR because of his handling of the Cuban Missile Crisis’.
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Example Candidate Response — middle Examiner comments
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Total mark awarded =
4 out of 12
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How the candidate could have improved their answer

This answer attempted to explain how some sources supported the statement and others did not. Much of the answer
was focused on support. The answer was placed at the bottom of Level 2. To improve this answer, the candidate
needed to explain more thoroughly how sources support or do not support the statement. It was necessary to use

the source content to support the point being made. For example, ‘Source F does not support this statement. This is
because Kennedy focuses on the threat the missiles in Cuba pose to American cities. He is interested in the threat to
the country and people of the USA and does not mention any personal rivalry with Khrushchev’.
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Example Candidate Responses — Paper 2

Examiner comments

0 The candidate’s response
starts with vague assertions about
the sources with no use of source
detail. Level 1.

e The candidate makes no use of
sources.

e No use of source content.
The candidate addresses the
statement in Question 6 and so
achieves Level 1.

Total mark awarded =
1 out of 12

How the candidate could have improved their answer

This candidate addressed the statement about the Cuban Missile Crisis being about personal rivalry but did not make
valid use of the sources. They needed to use the content of sources to explain whether they supported the statement
or not. For instance, Source E supports the statement and shows that the Crisis was really about personal rivalry. It

shows Khrushchev and Kennedy face to face having an arm wrestle. This strongly implies that the Crisis was a trial of
strength and determination between the two men.

Common mistakes candidates made in this question

Some answers were not based on the sources and were written from contextual knowledge instead.

Many responses made assertions that the sources supported or challenged the statement but lacked an
explanation which was based on the content of the source.

A small number of responses analysed the sources without making it clear whether or not they supported the

statement.

Some misread the statement and, as a result, used the sources to test a slightly different statement from the one
given in Question 6.

There were a number of one-sided answers which only explained how sources supported the statement or only
explained how they did not support the statement.

In some cases, responses did not make it clear which source they were using by referring to the source letter or
provenance.
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